=T ABC 12 £ C=90°DEfA =K T, ABOHHEEM 15, A
BC, CA hicZznEhAP, Q% ZPMQ=90°L725% X HicL 5,
ZDEE, WEGEHE X,

(1) AABC»APQM

(2) PQ2=BPz2+AQ2

B P 3,
G
(1) A MIZAABC OHLTH D)5, MB=MC XY /MBP=/MCP:--D
M MPCQ IZMICNEET 5D T, ZMCP=/ZMQP---©@
AABC & APQM (23 T
O, @Xv ZABC=/PQM
/ABC=90° =/PMQ
QDN ENZNELWNS, AABCHAAPQM (K&FF)
(2) "M M»5 BC, CAICTALEEROEZZNZENL, NET5L, L, NIZBC, CAOTRERD,
AMLP & AMNQ (23 T A

/PML=90° —/PMN=/QMN

/MLP=90° =/MNQ

QD AMRZNEIE LD, AMLPeAMNQ Q

WE, LP=p &< & - ON

ML : MN=LP : NQ X ¥ %b:%a: p:NQ

.. a

“NQ= P - -
B L P €

UEXDY

2 2
a b a a’+b®> a’*+b* ,
PQz=PC2+QC2=| = — —+Zp| = +
9 ? (2 pj +(2+bp) 4 0 "

2 2
a b a a’+b? a’+b* ,
BP2+AQ2=| — +=—Zp| = +
q (2”@ (2 bpj 4 0 "
X o>T PQ2=BP2+AQ2 (#GF)
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